14

10



+200.0p T
0.1p T( 0.01p T)
250(W)x 99(H)x 300(D) mm
79(ep )x 600(L) mm

50m
AC100V 12V




90

240(@ )x 1000(L),12(T) mm

Im

Im

45

315



select

distance



(cm) () (cm) () (cm) (
38.0 58.0 88.0
0 32.6 -5.4 0.9 0.9 54.9 -3.1 -2.1 -2.1| 81.7 -6.3 -9.2 .2
45 32.1 -5.9 44.3 -0.7 63.7 5.7 38.0 -7.0 80.7 -7.3 34.2 .8
90 32.5 -5.5 86.8 -3.2 58.9 0.9 84.2 -5.8 84.7 -3.3 85.7 .3
135] 33.6 -4.4 140.5 5.5 53.7 -4.3 133.6 -1.4] 79.5 -8.5 125.5 .5
180 32.6 -5.4 177.6 -2.4 55.2 -2.8 178.9 -1.1 85.4 -2.6 185.2 .2
225 33.0 -5.0 223.0 -2.0 57.8 -0.2 226.2 1.2 83.0 -5.0 229.8 .8
270 35.2 2.8 269.3 -0.7 51.8 -6.2 274.4 4.4 83.8 -4.2 276.4 .4
315 84.7 -3.3 319.5 .5
*315  (38,58cm)
0.88
0.58
0.38
deg:45
»—X—deg:0
‘deg:315

deg:270

@ 0.24m,1=1.0m




deg:0 r=0.38

OCO~NO O~ WN -

10
11
12
13
14
15
16
17
18
19
20
average

X1

F1

-73.30
-73.35
-73.30
-73.28
-73.27
-73.27
-73.36
-73.33
-73.30
-73.30
-73.29
-73.29
-73.33
-73.32
-73.30
-73.29
-73.33
-73.34
-73.32
-73.28
-73.31

32.23

32.64

Y1

26.01
26.03
26.06
26.07
26.03
26.05
26.06
26.03
26.01
26.03
26.03
26.04
26.06
26.03
26.06
26.06
26.03
26.02
26.03
26.05
26.04

0.90

Z1

-39.34
-39.33
-39.31
-39.31
-39.33
-39.33
-39.32
-39.33
-39.32
-39.32
-39.33
-39.33
-39.34
-39.33
-39.33
-39.32
-39.35
-39.33
-39.34
-39.33
-39.33

Totall
87.16
87.20
87.16
87.15
87.14
87.14
87.22
87.19
87.15
87.16
87.15
87.16
87.20
87.18
87.17
87.16
87.20
87.19
87.18
87.15
87.17

X2

-49.32
-49.30
-49.33
-49.34
-49.33
-49.34
-49.29
-49.34
-49.31
-49.33
-49.34
-49.32
-49.31
-49.29
-49.30
-49.31
-49.32
-49.32
-49.34
-49.31
-49.32

Y2

26.41
26.36
26.41
26.42
26.42
26.42
26.38
26.42
26.41
26.42
26.42
26.43
26.41
26.43
26.45
26.42
26.40
26.45
26.42
26.42
26.42

Z2

-17.82
-17.79
-17.81
-17.82
-17.82
-17.80
-17.79
-17.79
-17.80
-17.79
-17.82
-17.80
-17.79
-17.77
-17.79
-17.78
-17.83
-17.81
-17.81
-17.80
-17.80

Total2
58.72
58.67
58.72
58.74
58.73
58.73
58.67
58.73
58.70
58.72
58.74
58.72
58.70
58.68
58.71
58.70
58.71
58.73
58.73
58.71
58.71



deg:45 r:0.38

él .0m
1.0
0.3 )(
select: X
distance: 1.04
X Y Z Total
H1 57.31 49.31 -26.31 80.05
H2 42 .45 42.95 -44 .98 75.30 (cm) ()
H1-H2 14.86 6.36 18.67 24.69 37.4 23.2
deg:45 r:0.38
100.
80.
60.
40.
~
; 20 X1
Y1
0. Z1
-20 Totall
-40
-60
-80




deg:45

r:0.58

%1

.0Om
1.0

0.5 X

select: X

distance: 0.96

X

Total

H1

33.39

39.63

-29.08

59.42

H2

29.05

37.47

-37.05

60.17

H1-H2

4.34

2.16

7.97

9.33

)

57.9 26.5

100.

80.

60.

40.

20.

VD)

-100.

deg:45 r:0.58

X1
Y1l
Z1

Totall




deg:45 r:0.88

%1.%
t-0 0.8
select: X
distance: 0.91
X Y Z Total
H1 23.49 37.14 -29.63 53.00
H2 22 .53 36.18 -33.63 54 .54 (cm) ()
H1-H2 0.96 0.96 4.00 4.22 85.0 45.0
deg:45 r:0.88
100.
80.
60.
40.
& 20.
2 X1
0. Y1
71
-20 Totall

-60.

-80.

-100.




deg:315

r:0.38

él .0m
0.3
select: X
distance: 1.19
X Y Z Total
H1 59.06 -5_.59 -19.33 62.39
H2 45.20 5.34 -43.72 64.39 ()
H1-H2 13.86 -10.93 24.39 30.11 25.9 -38.3
deg:315 r:0.38
100.
80.
60.
40.
-
=3 20. X1
Y1
0. 71
-20 Totall
-40
-60
-80




deg:315

r:0.58

L]

il

é;.Om

0.5

select: X

distance: 1.05

X

Total

H1

31.78

10.37

-27.05

41.26

H2

28.25

14.04

-34.30

48.13

H1-H2

3.53

-3.67

7.25

8.86

)

47.8 -46.1

100.

80.

60.

40.

20.

VD)

deg:315 r:0.58

X1
Y1
Z1

Totall




deg:315

r:0.88

L]

é;.Om

0.8

select: X

distance: 0.93

X

Total

H1

21.31

21.69

-29.75

42.54

H2

20.42

22.63

-33.20

45.40

H1-H2

0.89

-0.94

3.45

3.68

)

81.2 -46.6

100.00

80.00

60.00

40.00

.00

b
S

0.00

-20.00

-40.00

-60.00

-80.00

-100.00

deg:315 r:0.88

X1
Y1l
71
~ Totall




(deg:45)

X (deg:45) Y (deg:45)
60.00
50.00
40.00
~ 30.00 A~
= 20.00 ——0.38m 3 ——0.38m
10.00 —0.58m —0.58m
0.00 0.88m 0.88m
-10.000-
-20.00
-30.00
-40.00
z deg:45) Total deg:45)
100.
90.
80.
~ . 70.
- 2 0. ——0.38m
N’ —
— oosam 50, 0.58m
0.88n 20, 0-88n
30.
20.
10.




(deg:315)

X (deg:315) Y deg:315)
60.00
50.00
40.00
30.
o B = ——0.38m
3 .00 ——0.38m 2 o san
10.00 ——0.58m o.88n
0.00 0.88m
-10.000-{
-20.00
-30.00
-40.00
z deg:315) Total deg:315)
30.00 110.00
20.00 100.00
10.00 90.00
0.00 £ 80.00 ———0.38n
2 -10.009- —0.38n 2 70.00 — o.5am
~ -20.00 ——0.58n 60.00 0.88n
0.88 50.00
-30.00 Sl 40.00
-40.00 30.00
-50.00 20.00
-60.00 10.00

-70.00

0.00

0.50

1.00

1.50

2.00

2.50

3.00




r:0.38 deg:0

2.6
Im
|<_>|

0.5

0.38
X

select; X

distance: 2.74

Z Total

H1
H2

46.45
4432

-17.73 96.96

-4276 87.25 (cm) ()

H1-H2

2.13

25.03 37.15 31.7 4.5

100.

80.

60.

40.

20.

VD)

-60.

-80.

-100.

deg:0 r:0.38

—IX1
—Y1

71
——Totall




r:0.38 deg:45

2.6
0.3 X
Im
i
0.5
select; X
distance: 2.77
X Y Z Total
H1 4594 60.66 -17.01 77.97
H2 38.01 53.55 -40.02 77.60 )
H1-H2 7.93 711 23.01 25.36 419
deg:45 r:0.38
100.00
80.00
60.00
40.00
-
- 20.00 — X1
0.00 e
) 0 Z1
) ——Totall

-60.00

-80.00

-100.00




r:0.38 deg:90

2.6 0.38
<=
0.5
select; X
distance: 2.55
X Y Z Total
H1 10.88 89.63 -18.95 92.23
H2 10.84 73.82 -45.50 87.39 )
H1-H2 0.04 15.81 26.55 30.90 89.9
deg:90 r:0.38
100.
80.
60.
40.
-
_ 20. —xX1
—Y1
0. Z1
-20 ——Totall
-40
-60.
-80.

-100.




r:0.88 deg:0

2.6

-7

select; X

distance: 2.67

X

Total

H1
H2

23.96
22.40

31.15
31.21

-28.53
-32.40

48.56
51.17

H1-H2

1.56

-0.06

3.87

417

()
-2.2

100.

80.

60.

40.

VD)

20.

-60.

-80.

-100.

deg:0 r:0.88

—X1
—Y1

Z1
——Totall




r:0.88 deg:45

2.6
0.88
Im
<
1.0
select: Y
distance: 2.68
X Y Z Total
H1 18.40 41.01 -28.76 53.36
H2 17.69 40.29 -33.50 55.16 (cm) ()
H1-H?2 0.71 0.72 474 4.85 79.1 454
deg:45 r:0.88
100.
80.
60.
40.
~
S 20. —X1
—Y1
0 71
-20. —— Totall

-40.

-60.

-100.




r:0.88 deg:90

2.6 0.88
Im
|
1.0
select: Y
distance: 2.51
X Y Z Total
H1 9.99 42.45 -30.09 5291
H2 9.93 41.20 -33.47 54.00 )
H1-H2 0.06 1.25 3.38 3.60 87.3
deg:90 r:0.88
100.00
80.00
60.00
40.00
-
- 20.00 —X1
—Y1
0.00 71
-20.00 ——Totall
-40.00
-60.00
-80.00

-100.00




(r:0.38)

X r:0.38) Y (r:0.38)
100.
90.
80.
o ~ 70.
- deg:90 = 60. —Tdeg:90
—deg:45
deg:45 50.
dea-0 deg:0
9 40.
30.
20.
10.
0.
Total r:0.38)
110.00
100.00
90.00
~ 80.00
'_ — -
= 70.00 deg:90 T deg:90
60.00 gzg:gs deg:45
50.00 - deg:0

40.00
30.00
20.00
10.00




(r:0.88)

X (r:0.88)

Y r:0.88)

~
-
deg:90 & —deg:go
deg:45 —deg:45
deg:0 deg:0
z (r:0.88) Total (r:0.88)
100.00
90.00
80.00
o ~ 70.00
2 deg:90 = 60.00 deg:90
~ —_— ~ deg:45
deg:45 50.00 eg:
deg:0 40.00 deg:0
30.00
20.00
10.00
0.00

0.00 0.50




éljm
1.0

Sift: -0.4m
select: Y
distance: 1.48
X Y Z Total
H1 -7.09 57.33] -26.60 63.60
H2 -3.25 53.14] -35.40 63.93
H1-H2 -3.84 4.19 8.80 10.48
(cm) ()
56.3 132.5
(62cm) (120 )
Sift: -0.2m
select: Y
distance: 1.47
X Y Z Total
H1 -3.03 61.42| -22.52 65.49
H2 0.17 56.32] -35.23 66.43
H1-H2 -3.20 5.10 12.71 14.06
(cm) ()
47.8 122.1
(52cm) (106 )
Sift: £ m
select: Y
distance: 1.51
X Y Z Total
H1 2.89 72.45 -27.22 77.45
H2 6.37 60.79f -39.50 72.78
H1-H2 -3.48 11.66 12.28 17.29
(cm) )
46.6 106.6
(48cm) (90 )
Sift: +0.2m
select: Y
distance: 1.53
X Y Z Total
H1 16.90 64.54| -24.07 70.93
H2 15.93 59.14] -35.28 70.68
H1-H2 0.97 5.40 11.21 12.48
(cm) ()
54.1 79.8
(52cm) (74 )
Sift: +0.4m
select: Y
distance: 1.51
X Y Z Total
H1 20.41 55.08| -25.26 63.94
H2 19.23 51.50] -35.76 65.58
H1-H2 1.18 3.58 10.50 11.16
(cm) ()
54.4 71.8
(62cm) (60 )




60.00
50.00
40.00
30.00 ——
- 20.00 —_0.2
10.00 0
0.00 — 0.2
-10.00°- 04
-20.00
-30.00
-40.00
Total
90.00
80.00
70.00
- — ~ 60.00 -
=1 0.2 = 50.00 -0.2
o 40.00 o
__ 02 30.00 0.2
0.4 20,00 0.4
10.00
0.00

-10.000-¢




cm

25cm

25¢cm

172

2

XY,z



Im

10cm

10cm

240mm
400mm

Im


















L=11.5

[ 10 ]
[ 10 ]

(m) (mm) (@1.0m) (@2.0m)
0.0 0.00 0.00 0.00
0.5 -5.52
1.0 -8.18 -4.84 -4.84
15 -10.78
2.0 -13.19 -9.63
2.5 -15.60
3.0 -19.18 -16.95 -19.48
3.5 -23.51
4.0 -28.24 -26.26
4.5 -32.97
5.0 -37.51 -35.17 -37.30
5.5 -41.87
6.0 -47.26 -46.24
6.5 -53.10
7.0 -59.13 -57.91 -60.62
7.5 -65.32
8.0 -71.98 -70.92
8.5 -78.94
9.0 -86.68 -86.07 -90.90
9.5 -95.05

10.0 -103.96 -103.61

10.5 -113.06

11.0 -122.44 -122.14 -127.97

11.5 -132.33

“1 "2 " 2
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